

PRICING PAGE – Athletic Equipment - Spring / WPS

Bid #: 8625-J6

<u>Item #</u>	<u>Quantity</u>	<u>Unit</u>	<u>Description</u>	<u>Manufacturer/Model #</u>	<u>Unit Price</u>	<u>Total Price</u>
1	15	dz.	Softballs - Official softball of the MIAA. Must be NFHS approved.	Spalding/Thunder Heat Dudley (43147) As specified #BBDNHSFY	\$ <u>134.27</u>	\$ <u>2014.05</u>
2	40	dz.	Baseballs - Official baseball of the MIAA. Must be NFHS approved.	Wilson/Wilson WTA 1010 Pro Baseball (A1010Pro) As specified #CCA1010BPRO	\$ <u>140.08</u>	\$ <u>5603.20</u>
3	20	ea.	Baseball/Softball Scorebooks for High School.	BSN Sports #MSBASBOK	\$ <u>5.54</u>	\$ <u>110.80</u>
4	10	case	Wilson Championship Extra Duty Tennis Balls. Optic Yellow. (GAME)	Wilson/Championship Extra Duty (GAME) As specified #MTWILCAN	\$ <u>105.12</u>	\$ <u>1051.20</u>
5	6	case	Wilson Championship Extra Duty Tennis Balls. Optic Yellow. (PRACTICE)	Wilson/Championship Extra Duty (PRACTICE)	\$ <u>NO BID</u>	\$ _____
6	5	dz.	Women's Lacrosse Balls. Must be NOCSAE standard and stamped NFHS approved. Yellow Ball.	As specified #LXBY	\$ <u>21.21</u>	\$ <u>106.05</u>
7	48	ea.	Volleyballs - Official volleyball of the MIAA.	Mikasa/VFC1000 As specified #1460977 Specify color when placing an order	\$ <u>61.83</u>	\$ <u>2967.84</u>
8	8	ea.	Ruggers Kooga All Weather Rugby Match Ball	Alternative Option: Mikasa #1303674	\$ <u>30.23</u>	\$ <u>241.84</u>
9	10	ea.	Ruggers Kooga All Weather Rugby Practice Ball (Trainer Ball)		\$ <u>NO BID</u>	\$ _____

<u>Item #</u>	<u>Quantity</u>	<u>Unit</u>	<u>Description</u>	<u>Manufacturer/Model #</u>	<u>Unit Price</u>	<u>Total Price</u>
10	2	ea.	High School High Jump Cross Bars	As specified #AFHJ1500	\$ <u>41.52</u>	\$ <u>83.04</u>
11	1	bundle	High School Track Batons 10 Gold, 10 Black 10 Green, 10 Blue 10 Red	As specified #AALBAT	\$ <u>91.50</u>	\$ <u>91.50</u>
12	10	ea.	LO Spin Yellow 1K High School Track Discus	As specified #ADLS1KGD	\$ <u>17.34</u>	\$ <u>173.40</u>
13	10	ea.	LO Spin Yellow 1.61K High School Track Discus	As specified #ADLSHSGD	\$ <u>22.18</u>	\$ <u>221.80</u>
14	4	ea.	Women's Javelins: Size 600 grams Range 40m	Gill Tru Flight 40 #GA35064	\$ <u>225.84</u>	\$ <u>903.36</u>
15	1	pair	3" Jaypro Powerlite Uprights (PVB-65U)	Alternative Option: Spalding #1139068	\$ <u>2739.77</u>	\$ <u>2739.77</u>

- Award to be made **PER LINE ITEM**. Bidder should **ONLY** bid items they can supply.
- Bid shall include all associated fees, including those related to shipping.
- All products shall be shipped to **Foley Stadium, 305 Chandler Street Worcester, MA 01602** and must be delivered no later than **March 6, 2026**.

Bidder Name: BSN Sports, LLC

PRICING PAGE - Athletic Equipment Spring / WPS

Bid # 8625-J6

<u>Item #</u>	<u>Quantity</u>	<u>Unit</u>	<u>Description</u>	<u>Manufacturer/Model #</u>	<u>Unit Price</u>	<u>Total Price</u>
1	15	dz.	Softballs - Official softball of the MIAA. Must be NFHS approved.	Spalding/Thunder Heat Dudley (43147)	\$ 105.49	\$ 1,582.35
2	40	dz.	Baseballs - Official baseball of the MIAA. Must be NFHS approved.	Wilson/Wilson WTA 1010 Pro Baseball (A1010Pro)	\$ 109.98	\$ 4,399.20
3	20	ea.	Baseball/Softball Scorebooks for High School.	PETERSON 7SB	\$ 6.36	\$ 127.20
4	10	case	Wilson Championship Extra Duty Tennis Balls. Optic Yellow. (GAME)	Wilson/Championship Extra Duty (GAME)	\$ 96.98	\$ 969.80
5	6	case	Wilson Championship Extra Duty Tennis Balls. Optic Yellow. (PRACTICE)	Wilson/Championship Extra Duty (PRACTICE)	\$ 96.98	\$ 581.88
6	5	dz.	Women's Lacrosse Balls. Must be NOCSAE standard and stamped NFHS approved. Yellow Ball.	CHAMPRO LBNG-DZ	\$ 19.92	\$ 99.60
7	48	ea.	Volleyballs - Official volleyball of the MIAA.	Mikasa/VFC1000	\$ 52.89	\$ 2,538.72
8	8	ea.	Ruggers Kooga All Weather Rugby Match Ball		\$ NO BID	\$ NO BID
9	10	ea.	Ruggers Kooga All Weather Rugby Practice Ball (Trainer Ball)		\$ NO BID	\$ NO BID

<u>Item #</u>	<u>Quantity</u>	<u>Unit</u>	<u>Description</u>	<u>Manufacturer/Model #</u>	<u>Unit Price</u>	<u>Total Price</u>
10	2	ea.	High School High Jump Cross Bars	GILL 538	\$ 194.91	\$ 389.82
11	1	bundle	High School Track Batons 10 Gold, 10 Black 10 Green, 10 Blue 10 Red	CHAMPION RB	\$ 2.66	\$ 133.00
12	10	ea.	LO Spin Yellow 1K High School Track Discus	GILL 75810	\$ 67.80	\$ 678.00
13	10	ea.	LO Spin Yellow 1.61K High School Track Discus	GILL 76116	\$ 79.83	\$ 798.30
14	4	ea.	Women's Javelins: Size 600 grams Range 40m		\$ NO BID	\$ NO BID
15	1	pair	3" Jaypro Powerlite Uprights (PVB-65U)		\$ 3,986.64	\$ 3,986.64

- Award to be made **PER LINE ITEM**. Bidder should **ONLY** bid items they can supply.
- Bid shall include all associated fees, including those related to shipping.
- All products shall be shipped to **Foley Stadium, 305 Chandler Street Worcester, MA 01602** and must be delivered no later than **March 6, 2026**.

LAUX SPORTS LLC,
DBA LAUX SPORTING GOODS
Bidder Name: _____

PRICING PAGE – Athletic Equipment - Spring / WPS

Bid #: 8625-J6

<u>Item #</u>	<u>Quantity</u>	<u>Unit</u>	<u>Description</u>	<u>Manufacturer/Model #</u>	<u>Unit Price</u>	<u>Total Price</u>
1	15	dz.	Softballs - Official softball of the MIAA. Must be NFHS approved.	Spalding/Thunder Heat Dudley (43147)	\$ 157.45	\$ 2361.75
2	40	dz.	Baseballs - Official baseball of the MIAA. Must be NFHS approved.	Wilson/Wilson WTA 1010 Pro Baseball (A1010Pro)	\$ 167.76	\$ 6710.40
3	20	ea.	Baseball/Softball Scorebooks for High School.	Rawlings System - 17 Baseball/Softball Scorebook	\$ 13.40	\$ 268.00
4	10	case	Wilson Championship Extra Duty Tennis Balls. Optic Yellow. (GAME)	Wilson/Championship Extra Duty (GAME)	\$ 146.61	\$ 1466.10
5	6	case	Wilson Championship Extra Duty Tennis Balls. Optic Yellow. (PRACTICE)	Wilson/Championship Extra Duty (PRACTICE)	\$ 146.61	\$ 879.66
6	5	dz.	Women's Lacrosse Balls. Must be NOCSAE standard and stamped NFHS approved. Yellow Ball.	Velocity Lacrosse Balls	\$ 25.80	\$ 129.00
7	48	ea.	Volleyballs - Official volleyball of the MIAA.	Mikasa/VFC1000	\$ 78.47	\$ 3766.56
8	8	ea.	Ruggers Kooga All Weather Rugby Match Ball	KooGa All Weather Rugby Match Ball Size 5	\$ 63.74	\$ 509.92
9	10	ea.	Ruggers Kooga All Weather Rugby Practice Ball (Trainer Ball)	KooGa Flo-Green Training Ball Size 5	\$ 31.86	\$ 318.60

<u>Item #</u>	<u>Quantity</u>	<u>Unit</u>	<u>Description</u>	<u>Manufacturer/Model #</u>	<u>Unit Price</u>	<u>Total Price</u>
10	2	ea.	High School High Jump Cross Bars	Gill Athletics 3 Piece High Jump Crossbar 538	\$ 210.98	\$ 421.96
11	1	bundle	High School Track Batons 10 Gold, 10 Black 10 Green, 10 Blue 10 Red		\$ _____	\$ _____
12	10	ea.	LO Spin Yellow 1K High School Track Discus	BSN Sports Premier II Gold Lo-Spin Discus, 1Kg	\$ 63.70	\$ 637.00
13	10	ea.	LO Spin Yellow 1.61K High School Track Discus	BSN Sports Premier II Gold Lo-Spin Discus, 1.6kg	\$ 63.76	\$ 637.60
14	4	ea.	Women's Javelins: Size 600 grams Range 40m	Gill Athletics 600G Girls Metal Tru-Flight Javelin	\$ 399.30	\$ 1597.20
15	1	pair	3" Jaypro Powerlite Uprights (PVB-65U)	3" Jaypro Powerlite Uprights (PVB-65U)	\$ 5888.19	\$ 5888.19

- Award to be made **PER LINE ITEM**. Bidder should **ONLY** bid items they can supply.
- Bid shall include all associated fees, including those related to shipping.
- All products shall be shipped to **Foley Stadium, 305 Chandler Street Worcester, MA 01602** and must be delivered no later than **March 6, 2026**.

Bidder Name: LSA Solutions LLC

PRICING PAGE – Athletic Equipment - Spring / WPS**Bid #: 8625-J6**

<u>Item #</u>	<u>Quantity</u>	<u>Unit</u>	<u>Description</u>	<u>Manufacturer/Model #</u>	<u>Unit Price</u>	<u>Total Price</u>
1	15	dz.	Softballs - Official softball of the MIAA. Must be NFHS approved.	Spalding/Thunder Heat Dudley (43147)	\$ _____	\$ _____
2	40	dz.	Baseballs - Official baseball of the MIAA. Must be NFHS approved.	Wilson/Wilson WTA 1010 Pro Baseball (A1010Pro)	\$ _____	\$ _____
3	20	ea.	Baseball/Softball Scorebooks for High School.		\$ _____	\$ _____
4	10	case	Wilson Championship Extra Duty Tennis Balls. Optic Yellow. (GAME)	Wilson/Championship Extra Duty (GAME)	\$ _____	\$ _____
5	6	case	Wilson Championship Extra Duty Tennis Balls. Optic Yellow. (PRACTICE)	Wilson/Championship Extra Duty (PRACTICE)	\$ _____	\$ _____
6	5	dz.	Women's Lacrosse Balls. Must be NOCSAE standard and stamped NFHS approved. Yellow Ball.		\$ _____	\$ _____
7	48	ea.	Volleyballs - Official volleyball of the MIAA.	Mikasa/VFC1000	\$ _____	\$ _____
8	8	ea.	Ruggers Kooga All Weather Rugby Match Ball		\$ _____	\$ _____
9	10	ea.	Ruggers Kooga All Weather Rugby Practice Ball (Trainer Ball)		\$ _____	\$ _____

If both crossbars are ordered @ the same time
+ Shipped to same location the unit price will
be \$189ea

Item #	Quantity	Unit	Description	Manufacturer/Model #	Unit Price	Total Price
10	2	ea.	High School High Jump Cross Bars	MF# 588262	\$ 335-	\$ 670
11	4 1 bundle Priced per bakersdozen(13)		High School Track Batons 10 Gold, 10 Black 10 Green, 10 Blue 10 Red	MF# 7043 COLOR	\$ 602-	\$ 248-
12	10	ea.	LO Spin Yellow 1K High School Track Discus	MF# 60916-1.0	\$ 114-	\$ 1,140
13	10	ea.	LO Spin Yellow 1.61K High School Track Discus	MF# 60916-1.6	\$ 137-	\$ 1,370
14	4	ea.	Women's Javelins: Size 600 grams Range 40m	MF# 61360-40	\$ 245-	\$ 980
15	1	pair	3" Jaypro Powerlite Uprights (PVB-65U)	Jaypro# PVB-65U	\$ 4,560	\$ 4,560

- Award to be made **PER LINE ITEM**. Bidder should **ONLY** bid items they can supply.
- Bid shall include all associated fees, including those related to shipping.
- All products shall be shipped to **Foley Stadium, 305 Chandler Street Worcester, MA 01602** and must be delivered no later than **March 6, 2026**.

Bidder Name: MFAC, LLC

Winning Teams by Nissell

PRICING PAGE – Athletic Equipment - Spring / WPS

Bid #: 8625-J6

<u>Item #</u>	<u>Quantity</u>	<u>Unit</u>	<u>Description</u>	<u>Manufacturer/Model #</u>	<u>Unit Price</u>	<u>Total Price</u>
1	15	dz.	Softballs - Official softball of the MIAA. Must be NFHS approved.	Spalding/Thunder Heat Dudley (43147)	\$ 110.99	\$ 1,664.85
2	40	dz.	Baseballs - Official baseball of the MIAA. Must be NFHS approved.	Wilson/Wilson WTA 1010 Pro Baseball (A1010Pro)	\$ 171.25	\$ 6,850.00
3	20	ea.	Baseball/Softball Scorebooks for High School.		\$ _____	\$ _____
4	10	case	Wilson Championship Extra Duty Tennis Balls. Optic Yellow. (GAME)	Wilson/Championship Extra Duty (GAME)	\$ _____	\$ _____
5	6	case	Wilson Championship Extra Duty Tennis Balls. Optic Yellow. (PRACTICE)	Wilson/Championship Extra Duty (PRACTICE)	\$ _____	\$ _____
6	5	dz.	Women's Lacrosse Balls. Must be NOCSAE standard and stamped NFHS approved. Yellow Ball.	Champion LBYNOCSAEBULK	\$ 23.99	\$ 119.95
7	48	ea.	Volleyballs - Official volleyball of the MIAA.	Mikasa/VFC1000	\$ _____	\$ _____
8	8	ea.	Ruggers Kooga All Weather Rugby Match Ball		\$ _____	\$ _____
9	10	ea.	Ruggers Kooga All Weather Rugby Practice Ball (Trainer Ball)		\$ _____	\$ _____

<u>Item #</u>	<u>Quantity</u>	<u>Unit</u>	<u>Description</u>	<u>Manufacturer/Model #</u>	<u>Unit Price</u>	<u>Total Price</u>
10	2	ea.	High School High Jump Cross Bars		\$ _____	\$ _____
11	1	bundle	High School Track Batons 10 Gold, 10 Black 10 Green, 10 Blue 10 Red		\$ _____	\$ _____
12	10	ea.	LO Spin Yellow 1K High School Track Discus		\$ _____	\$ _____
13	10	ea.	LO Spin Yellow 1.61K High School Track Discus		\$ _____	\$ _____
14	4	ea.	Women's Javelins: Size 600 grams Range 40m		\$ _____	\$ _____
15	1	pair	3" Jaypro Powerlite Uprights (PVB-65U)		\$ 3,995.00	\$ 3,995.00

- Award to be made **PER LINE ITEM**. Bidder should **ONLY** bid items they can supply.
- Bid shall include all associated fees, including those related to shipping.
- All products shall be shipped to **Foley Stadium, 305 Chandler Street Worcester, MA 01602** and must be delivered no later than **March 6, 2026**.

Bidder Name: Winning Teams by Nissel

PRICING PAGE – Athletic Equipment - Spring / WPS
Bid #: 8625-J6

<u>Item #</u>	<u>Quantity</u>	<u>Unit</u>	<u>Description</u>	<u>Manufacturer/Model #</u>	<u>Unit Price</u>	<u>Total Price</u>
1	15	dz.	Softballs - Official softball of the MIAA. Must be NFHS approved.	Spalding/Thunder Heat Dudley (43147)	\$ _____	\$ _____
2	40	dz.	Baseballs - Official baseball of the MIAA. Must be NFHS approved.	Wilson/Wilson WTA 1010 Pro Baseball (A1010Pro)	\$ _____	\$ _____
3	20	ea.	Baseball/Softball Scorebooks for High School.		\$ _____	\$ _____
4	10	case	Wilson Championship Extra Duty Tennis Balls. Optic Yellow. (GAME)	Wilson/Championship Extra Duty (GAME)	\$ _____	\$ _____
5	6	case	Wilson Championship Extra Duty Tennis Balls. Optic Yellow. (PRACTICE)	Wilson/Championship Extra Duty (PRACTICE)	\$ _____	\$ _____
6	5	dz.	Women's Lacrosse Balls. Must be NOCSAE standard and stamped NFHS approved. Yellow Ball.		\$ _____	\$ _____
7	48	ea.	Volleyballs - Official volleyball of the MIAA.	Mikasa/VFC1000	\$ _____	\$ _____
8	8	ea.	Ruggers Kooga All Weather Rugby Match Ball		\$ _____	\$ _____
9	10	ea.	Ruggers Kooga All Weather Rugby Practice Ball (Trainer Ball)		\$ _____	\$ _____

Item #	Quantity	Unit	Description	Manufacturer/Model #	Unit Price	Total Price
10	2	ea.	High School High Jump Cross Bars		\$ _____	\$ _____
11	1	bundle	High School Track Batons 10 Gold, 10 Black 10 Green, 10 Blue 10 Red		\$ _____	\$ _____
12	10	ea.	LO Spin Yellow 1K High School Track Discus		\$ _____	\$ _____
13	10	ea.	LO Spin Yellow 1.61K High School Track Discus		\$ _____	\$ _____
14	4	ea.	Women's Javelins: Size 600 grams Range 40m		\$ _____	\$ _____
15	1	pair	3" Jaypro Powerlite Uprights (PVB-65U)	Jaypro Powerlite Uprights PVB-65U	\$ 4,675.00	\$ 4,675.00

- Award to be made **PER LINE ITEM**. Bidder should **ONLY** bid items they can supply.
- Bid shall include all associated fees, including those related to shipping.
- All products shall be shipped to **Foley Stadium, 305 Chandler Street Worcester, MA 01602** and must be delivered no later than **March 6, 2026**.

Bidder Name: Pioneer Manufacturing Company

* Please visit www.championsports.com to view specs. for all Champion items quoted.

PRICING PAGE – Athletic Equipment - Spring / WPS

Bid #: 8625-J6

<u>Item #</u>	<u>Quantity</u>	<u>Unit</u>	<u>Description</u>	<u>Manufacturer/Model #</u>	<u>Unit Price</u>	<u>Total Price</u>
1	15	dz.	Softballs - Official softball of the MIAA. Must be NFHS approved.	Spalding/Thunder Heat Dudley (43147)	\$ 104.50	\$ 1567.50
2	40	dz.	Baseballs - Official baseball of the MIAA. Must be NFHS approved.	Wilson/Wilson WTA 1010 Pro Baseball (A1010Pro)	\$ 113.95	\$ 4558.00
3	20	ea.	Baseball/Softball Scorebooks for High School.	CHAMPION # SC1	\$ 3.85	\$ 77.00
4	10	case	Wilson Championship Extra Duty Tennis Balls. Optic Yellow. (GAME)	Wilson/Championship Extra Duty (GAME) T1001	\$ 93.36	\$ 933.60
5	6	case	Wilson Championship Extra Duty Tennis Balls. Optic Yellow. (PRACTICE)	Wilson/Championship Extra Duty (PRACTICE) T1019W	\$ 79.20	\$ 475.20
6	5	dz.	Women's Lacrosse Balls. Must be NOCSAE standard and stamped NFHS approved. Yellow Ball.	CHAMPION LRY NOCSAE	\$ 20.50	\$ 102.50
7	48	ea.	Volleyballs - Official volleyball of the MIAA.	Mikasa/VFC1000	\$ 53.99	\$ 2591.52
8	8	ea.	Ruggers Kooga All Weather Rugby Match Ball		\$ 103.15	\$ 825.20
9	10	ea.	Ruggers Kooga All Weather Rugby Practice Ball (Trainer Ball)		\$ 1	\$ 10.00

PLEASE SEND US
A COPY OF RECAP
THANK YOU!

Pyramid School Products
6510 North 54th Street
Tampa, Florida 33610-1908

Item #	Quantity	Unit	Description	Manufacturer/Model #	Unit Price	Total Price
10	2	ea.	High School High Jump Cross Bars		\$ <u>108.14</u>	\$ <u> </u>
11	1	bundle	High School Track Batons 10 Gold, 10 Black 10 Green, 10 Blue 10 Red	CHAMPION RB SET	\$ <u>114.50</u>	\$ <u>114.50</u>
12	10	ea.	LO Spin Yellow 1K High School Track Discus		\$ <u>108.14</u>	\$ <u> </u>
13	10	ea.	LO Spin Yellow 1.61K High School Track Discus		\$ <u> </u>	\$ <u> </u>
14	4	ea.	Women's Javelins: Size 600 grams Range 40m		\$ <u> </u>	\$ <u> </u>
15	1	pair	3" Jaypro Powerlite Uprights (PVB-65U)	JAYPRO PVB-65U	\$ <u>3889.95</u>	\$ <u>3889.95</u>

→

- Award to be made PER LINE ITEM. Bidder should **ONLY** bid items they can supply.
- Bid shall include all associated fees, including those related to shipping.
- All products shall be shipped to Foley Stadium, 305 Chandler Street Worcester, MA 01602 and must be delivered no later than March 6, 2026.

Bidder Name:



Pyramid School Products
6510 North 54th Street
Tampa, Florida 33610-1908

PRICING PAGE – Athletic Equipment - Spring / WPS

Bid #: 8625-J6

<u>Item #</u>	<u>Quantity</u>	<u>Unit</u>	<u>Description</u>	<u>Manufacturer/Model #</u>	<u>Unit Price</u>	<u>Total Price</u>
1	15	dz.	Softballs - Official softball of the MIAA. Must be NFHS approved.	Spalding/Thunder Heat Dudley (43147)	\$ _____	\$ _____
2	40	dz.	Baseballs - Official baseball of the MIAA. Must be NFHS approved.	Wilson/Wilson WTA 1010 Pro Baseball (A1010Pro)	\$ _____	\$ _____
3	20	ea.	Baseball/Softball Scorebooks for High School.	CHAMPRO A07	\$ <u>4.90</u>	\$ <u>98.00</u>
4	10	case	Wilson Championship Extra Duty Tennis Balls. Optic Yellow. (GAME)	Wilson/Championship Extra Duty (GAME)	\$ _____	\$ _____
5	6	case	Wilson Championship Extra Duty Tennis Balls. Optic Yellow. (PRACTICE)	Wilson/Championship Extra Duty (PRACTICE)	\$ _____	\$ _____
6	5	dz.	Women's Lacrosse Balls. Must be NOCSAE standard and stamped NFHS approved. Yellow Ball.	CHAMPRO LBN	\$ <u>37.49</u>	\$ <u>187.45</u>
7	48	ea.	Volleyballs - Official volleyball of the MIAA.	Mikasa/VFC1000	\$ _____	\$ _____
8	8	ea.	Ruggers Kooga All Weather Rugby Match Ball		\$ _____	\$ _____
9	10	ea.	Ruggers Kooga All Weather Rugby Practice Ball (Trainer Ball)		\$ _____	\$ _____

<u>Item #</u>	<u>Quantity</u>	<u>Unit</u>	<u>Description</u>	<u>Manufacturer/Model #</u>	<u>Unit Price</u>	<u>Total Price</u>
10	2	ea.	High School High Jump Cross Bars	GILL 522	\$ <u>107.00</u>	\$ <u>214.00</u>
11	1	bundle	High School Track Batons 10 Gold, 10 Black 10 Green, 10 Blue 10 Red	GILL 430	\$ <u>234.50</u>	\$ <u>234.50</u>
12	10	ea.	LO Spin Yellow 1K High School Track Discus		\$ _____	\$ _____
13	10	ea.	LO Spin Yellow 1.61K High School Track Discus		\$ _____	\$ _____
14	4	ea.	Women's Javelins: Size 600 grams Range 40m	GILL 35064	\$ <u>244.00</u>	\$ <u>976.00</u>
15	1	pair	3" Jaypro Powerlite Uprights (PVB-65U)	JAYPRO PVB-65U	\$ <u>4548.25</u>	\$ <u>4548.25</u>

- Award to be made **PER LINE ITEM**. Bidder should **ONLY** bid items they can supply.
- Bid shall include all associated fees, including those related to shipping.
- All products shall be shipped to **Foley Stadium, 305 Chandler Street Worcester, MA 01602** and must be delivered no later than **March 6, 2026**.

Bidder Name: _____ **RIDDELL** _____

Stadium System Inc

67 Church St.

P.O. BOX 940 * ALL ITEMS MUST BE DELIVERED BY Friday MARCH 6th, 2026 ***
 Canaan CT 06018

PRICING PAGE – Athletic Equipment - Spring / WPS Bid #: 8625-J6

<u>Item #</u>	<u>Quantity</u>	<u>Unit</u>	<u>Description</u>	<u>Manufacturer/Model #</u>	<u>Unit Price</u>	<u>Total Price</u>
1	15	dz.	Softballs - Official softball of the MIAA. Must be NFHS approved.	Spalding/Thunder Heat Dudley (43147)	\$116.99	\$1,754.85
2	40	dz.	Baseballs - Official baseball of the MIAA. Must be NFHS approved.	Wilson/Wilson WTA 1010 Pro Baseball (A1010Pro)	\$95.99	\$3,839.60
3	20	ea.	Baseball/Softball Scorebooks for High School.		\$6	\$120.00
4	10	case	Wilson Championship Extra Duty Tennis Balls. Optic Yellow. (GAME)	Wilson/Championship Extra Duty (GAME)	\$94.99	\$949.90
5	6	case	Wilson Championship Extra Duty Tennis Balls. Optic Yellow. (PRACTICE)	Wilson/Championship Extra Duty (PRACTICE)	\$94.99	\$569.94
6	5	dz.	Women's Lacrosse Balls. Must be NOCSAE standard and stamped NFHS approved. Yellow Ball.	CASE (120)	\$212.99	\$1,064.95
7	48	ea.	Volleyballs - Official volleyball of the MIAA.	Mikasa/VFC1000	\$56.99	\$2,735.52
8	8	ea.	Ruggers Kooga All Weather Rugby Match Ball		\$	\$0.00
9	10	ea.	Ruggers Kooga All Weather Rugby Practice Ball (Trainer Ball)		\$	\$0.00
<u>Item #</u>	<u>Quantity</u>	<u>Unit</u>	<u>Description</u>	<u>Manufacturer/Model #</u>	<u>Unit Price</u>	
10	2	ea.	High School High Jump Cross Bars		\$	\$0.00
11	1	bundle	High School Track Batons 10 Gold, 10 Black 10 Green, 10 Blue 10 Red		\$	\$0.00
12	10	ea.	LO Spin Yellow 1K High School Track Discus		\$	\$0.00
13	10	ea.	LO Spin Yellow 1.61K High School Track Discus		\$	\$0.00

